HEEREHE  REE]

ﬁi% 1t — (7)o + (b2 + (A7) )x® — (T )bx + 324
1t —2bx° 4 (b2 4 36)x% — 36bx + 324
(H¥) 8 (¥) T ()3 ()5 H) 3 (V)5 (A 2
1) Bi=(x*—bx+18)*=x"—"2bx*+(b%+ 7736 )x*—T"36bx+ 324
C=A—B?=(2b—14)x*+(a—b>—36 )x>+( 360 — 249 )x+1
EoT, CHR2IZDVTDIRRAICZRZDIE 26—14=0, a—b*—36=0 Thbb
a="%85 b="TDLXT, ZOr% C="3x+1
2 fn)—gn)=n:—10n+17
XoT (n—=572-8<0%¥~dnix #n=3, 4 5 6, 7 WA 751
f(n) & g(n) DED (f(n), g(n))lx
n=3Dr% (4, 8)
n=40Dr%x
n=50r% (8, 16
(
(

—

n=6ND&X
n=TN&x

55T, n="3, ¥sv L3 _00)_z

olme L2 V6 E=A7) V18 (oWEH) 6/
@9 12 (*2) 12 (T2) 23

w0 )0 & 0 (FVo 2vs A IVH) 3v/6

(F) 2
= 3 AWV 36 (7N 1243
(X) 4 N 7 () 7
AABCIZBWT, RELEHEIZLY
_ BC*+CA’—AB®>  (J/6)°+3°-(2/3)* 3 76
cos ZACB = 3. BC-CA = 2.6 . 3 6\/_ 12

0°< LACB<180° &V, sin ZACB>0 THdm" 5

3 / 23 _ /7138
sin ZACB =+/1—cos? ZACB = 12 ./24 EEZITEE

MO D¥EE2RETHE, AABCIZBWT, EREHITLY

__AB
~ sin ZACB

toT R—__AB 23 767746
~ 2sin ZACB _2 J138  Y*23

12
1) XY & BCIRETTHEM5, HEAFEFLLL,



Eo>T  ZXAB=ZABC - ® (*0)
XPHM O 1T 205 LXBA=ZACB - @ (V0)
O, @ &V, 2oANENThELVNS  AXABAABC
k->T ZAXB=/BAC (*0)
AXABoAABCH#5  AX:BA=AB:BC
@ () LFE#IZE25E  AYCAx»AABC

k->T AY:CA=CA:BC

CA* 3 73/%6

£oT AX =

XY/BC»5  PB:PX=PC:PY .- ®
APXAIZEBET2L PB:PX=BD:XA - @
APYA IZEZB$3¢ PC:PY=DC:AY - ®
®, ®, ®nrs BD:XA=DC:AY
36
DC_AY 2 =3

$-T BD XA 26 *4

oL _ 3 *3/76
Wwzlz DC=BC 3=

AACD IZB\W\T, REEHIZLY
AD?’=AC?*+DC?*-2AC-DCcos ZACD

:32+<¥>2_2.3.ﬂ.ﬁ

7 12
54 9 432
=9t 97T
7 N
AD>0ThHEMS  AD=, /L = li; E

1 15 (2 816 (3) 2047

() mfED O & 1FNIHANRT, O & O DED (m—1) BFMNS6 (n—1) A% EATHY)
V| & AN, ENSIRIZAETIY TREIShEZ O DfEThTh, BREDFIOHRLT
L, BREDIIN1IDRES,

Bz, ZD O & | DIINEBREDIINTRTHELND,
FlziE, 7D O DML, HEORDES 22048 0|0 O O 0|10 O
D]EANELE, BREDINL]L, 4, 22725,
£oT f(7, 3)=7_1C5_1=6C,=15
2) (1) &EBRIZERT f(9, 4) =4 ,C4_1=1C;=816

1 1
(3) (1) LREMRIZEZT kZ_llf<12, k)=§111Ck_1 =11Co+11Cy+eeeeee +11Cyo



:f‘, :IEEIEK’-J: U (1+x)11:11C0+11C1x+ """ +11C10x10+11C11x11
ZDFEKRT, x=1,8<L (1+1)"=1,Co41,Cy+ o +1Co+1uCy

(

11
XoT /12, k)=2"—,,C;;=2048—1 =2047
k=1

= ) 1 7 1 1 5
T4 5 I g Gh) 5 2 5 3 ¢
o 5 L L
BY) & (At 5 (VH) g

1) =P, QIXER ycosd —xsind =0 EiZH 3,
£oT, AR MEM ycosf —xsinf =0 LIZHdL X, RIFEHPQE1:2I1ZAD
TER, E/RIINDTEIRTHD,
RS PQZE1:2ICHATHLE, RDEFR

2 2
1+2 ’ 1+2

RS PQ & 1: 214095 L X, RDERT

< —2cos @ +icosﬁ —2sin @ —I—isinﬁ

<2cost9 +£cost9 2sin @ +§sin0

7 7 .
VAR - -
> CRAY 9)5) <6cost9, Gsmﬁ)

2 2
1-2 ’ 1-2

> ERAN0)5) ( cosé lsinl9>

1
277 2

LMo, R ORER (%cosﬂ, %sinﬂ) if:li(% :

cos@, lsinl?)

2 R(X, V)&T5,
PR:QR=1:2»5 2PR=QR W2z  4PR*=QR?

PR’=(X—cos0)+(Y—sinf), QR =<X—%cosﬁ>2+<Y—%sin0>2

. , o 3 2 3 .\
THBENS  M(X—cosf)+(Y —sind) }:(X——cow) +<Y——sm0>

2 2
ERL TEHET L& X2+Y2—%Xcosl9 gYsm0+172 =0
5 2 5 . 2 1
XoT <X—€cosﬁ> +<Y—€sm0> =9

W ZIZ, R OEERD AFERIE <x— —cosﬁ) < — —smﬁ) %
3) M D) DHLDEELE (X, V) &TdE, 2)»

,_ 9 S5 6., o, 6,
X_6cost9, Y_6sm0 o T cosﬂ_SX, sm0_5Y
2 2
sin20 +cos?0 =1 122 N5 ERAT 2 & <%Y> +<%X/> —1
R 72 72 __ 25
BT X" +Y°= 36
x7, ogagg nex ogxg% 0§Y’§%



LEN-T, 07ﬁ0§0§% 2B L%, D(9) D

DO M xz_,_yz:ﬁ 0)0§x§£, Ogygé
36 6 6

DEZTH 5,

WZIZ, D(0) WEBTIHEHRTHE, HD

KDOEKER DD L S 12725,

Lo T, kDIHEEIX

1 7\¢ 1 1)\2 1 1)\2 7
z’f'<€> 7“'(7) +2'7“'<§> =187




